Name:

GCSE (1 - 9)

Cylinders

Instructions

» Use black ink or ball-point pen.

« Answer all Questions.

» Answer the Questions in the spaces provided

— there may be more space than you need.

- Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each Question are shown in brackets
— use this as a guide as to how much time to spend on each Question.

Advice

- Read each Question carefully before you start to answer it.
» Keep an eye on the time.

* Try to answer every Question.

 Check your answers if you have time at the end
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A cylinder has a radius of 5cm and a height of 12 cm.

Work out the volume of the cylinder.
Give your answer in terms of 7.

12cm
lume 7’ h
L = 7
2
= /7"(5) x 12
2
= SO0 cm
.............. SO e’
(Total for Question 1 is 3 marks)

A cylinder has a diameter of 9 cm and a height of 11 cm.

Work out the volume of the cylinder.
Give your answer correct to 1 decimal place.

volame = 77 = L
2
= /7'([;[5) x 1

= 6798 c/mg

>

11cm

9cm

(Total for Question 2 is 3 marks)

/
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A solid cylinder has a radius of 4 cm and a height of 10.5 cm.

Work out the total surface area of the cylinder.
Give your answer correct to 1 decimal place.

- 2 xmr’

il

27 (4)° + 27 (%

= BE6 Y. & c.,ml

2n7r

+ 27 rk

)(10-5)

4cm

N~

Swrbace Area = @ + @ * C,k

10.5¢cm

(Total for Question 3 is 3 marks)

A solid cylinder has a diameter of ¥ cm and a height of 1§cm.

Work out the total surface area of the cylinder.
Give your answer correct to 3 significant figures.

Totad Sa. = 2rrr> + 2rrk

7cm

\

4o7 c/qu

g7 |

N~

= ,277'[35)2 1t 2-77’[?-5)[/6(> /Q;Z}'D/[//j' = 3,5_6/11'

15cm

(Total for Question 4 is 3 marks)
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5 A solid cylinder has a radius of 6 m and a height of 7m.
Work out the total surface area of the cylinder. 7m
Give your answer in terms of 7.
6m
\
2
To4al Sa= Z2mar 2rrrh
2 :
= 27 (6)" + 2m (é)(7)
= /5677
2
.......... [ 26T ...
(Total for Question S5 is 4 marks)
6

A solid cylinder has a radius of 14¢m and a height of 25¢m..

Work out the volume of the cylinder.
Give your answer correct to 3 significant figures.

T

m(1e)"(25)

it

Vo liume

i

= /5400 cm

>

25cm

14cm

(Total for Question 6 is 4 marks)
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A solid cylinder is cut in half to form a semi-cylinder with a radius of 20 cm and a length of 75 cm.

75cm

20cm

(a) Work out the volume of the sémi-cylinder.
Give your answer correct to 3 significant figures.

2
T
2

v olum-e

i

f

7‘(’(20)7')( 75
2

- 47100 cm”

bT7)00
(b) Work out the total surface are of the of the semi-cylinder. 3)
Give your answer correct to 3 significant figures.
/obM Su/face aréo = -+ , l ~+ I {
2 semi cor Curved
circle) rectongle

r{c.m/g/{{_
. : (2 0)
7 (20)° + wox 75 + ZTL 75

/

o

ti

9 70 c/m?’

3
(Total for Question 7 is 6 marks)




A solid is formed by placing a half cylinder on a rectangular prism.
The solid has a width of 2 m, a total height of 3 m and a length of 8§ m.

\t"
{m
3Im
8m
«—»
2m
Work out the volume of the solid.
Give your answer correct to 3 significant figures
PAapius = [(m
T
Vv o luume ol hod } Md(./L:VL,O(C./ - 77 7 x L
o
2
.o
= 7'7’(/) x & = 4‘-7//
AL
2
volume ol /0//5‘” = 2.x 2 x &
z
= 32 M

(Total for Question 8 is 4 marks)
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9 A solid cylinder has a radius of #m and a height of 12m. O

The volume of the cylinder is 5077 dm’.
Find the value of r.

12m
| rm
2 N — >
volrme = s L
- - 2
So7a = 7°r (12)
o7 <= r®(i2)
2 = 507
r i
v

r= 507

2x o
/2

< 6-5m - €.5
(Total for Question 9 is 4 marks)
10 A solid cylinder has a radius of 5m and a height of # m. AN N
The total surface area of the cylinder is 1657 ¢#m”.
Find the value of 4.
h
N

S’uf”#a.ce acrea = 277’(1—/— Z'/’f_f L

165 = 2m(s)" + 2m (5)(&)
[6 57 = 507 ~+ /Om K
— 50 —Som

15 = /loh
A I/ . 5 m RS

(Total for Question 10 is 4 marks)
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O . 4m \
r=02m 40 em

The diagram shows a cylindrical tank. - -

The tank has a top and a bottom. /—\ N

5 of these tanks are going to be painted. \/

Each tank has a diameter of 40 cm and a height of 1.8 m.

Each pot of paint can cover 4 m?, 1.8m

How many pots of paint are needed to paint the 5 tanks?

S'ur\f»u/a aréa = 277’)"1 ~+ 21

i)

2m(02)" + 27 (02)(1.¢)

- 2.513 mz
Total area of 5§ tonks = & x"2513"
- 12566 -
12566 _ 544
i
= 4 /Ooid OA /O“/EMLL
—
. S, pots

(Total for Question 11 is 4 marks)
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